
Name:

$8,675.731 =

Date:

Rounding Numbers 517
What is a bow that is impossible to tie? A rainbow.

Round these numbers to the nearest $100.00

© www.teachyourchildrenwell.com.au Score:

15 $274.31 = 28 $3,477.34 =

2 $9,725.45 = 16 $8,890.79 = 29 $774.58 =

3 $5,911.88 = 17 $3,802.21 = 30 $279.54 =

4 $8,217.47 = 18 $658.08 = 31 $339.42 =

5 $622.55 = 19 $480.66 = 32 $642.57 =

6 $1,207.24 = 20 $2,097.38 = 33 $183.04 =

7 $3,451.75 = 21 $226.37 = 34 $1,326.91 =

8 $3,834.21 = 22 $793.95 = 35 $861.73 =

9 $8,008.18 = 23 $3,492.49 = 36 $4,899.73 =

10 $4,950.59 = 24 $611.80 = 37 $162.35 =

11 $284.45 = 25 $637.36 = 38 $249.78 =

12 $237.88 = 26 $367.44 = 39 $4,646.02 =

13 $294.05 = 27 $285.63 = 40 $341.02 =

14 $670.12 =



Name:

$8,675.731 = $8,700.00

Date:

Rounding Numbers 517
What is a bow that is impossible to tie? A rainbow.

Round these numbers to the nearest $100.00

© www.teachyourchildrenwell.com.au Score:

15 $274.31 = $300.00 28 $3,477.34 = $3,500.00

2 $9,725.45 = $9,700.00 16 $8,890.79 = $8,900.00 29 $774.58 = $800.00

3 $5,911.88 = $5,900.00 17 $3,802.21 = $3,800.00 30 $279.54 = $300.00

4 $8,217.47 = $8,200.00 18 $658.08 = $700.00 31 $339.42 = $300.00

5 $622.55 = $600.00 19 $480.66 = $500.00 32 $642.57 = $600.00

6 $1,207.24 = $1,200.00 20 $2,097.38 = $2,100.00 33 $183.04 = $200.00

7 $3,451.75 = $3,500.00 21 $226.37 = $200.00 34 $1,326.91 = $1,300.00

8 $3,834.21 = $3,800.00 22 $793.95 = $800.00 35 $861.73 = $900.00

9 $8,008.18 = $8,000.00 23 $3,492.49 = $3,500.00 36 $4,899.73 = $4,900.00

10 $4,950.59 = $5,000.00 24 $611.80 = $600.00 37 $162.35 = $200.00

11 $284.45 = $300.00 25 $637.36 = $600.00 38 $249.78 = $200.00

12 $237.88 = $200.00 26 $367.44 = $400.00 39 $4,646.02 = $4,600.00

13 $294.05 = $300.00 27 $285.63 = $300.00 40 $341.02 = $300.00

14 $670.12 = $700.00


